1. Turn the cabinet upside down and install the cabinet legs

Caution: Use Specific Screw Specifications!
Incorrect sizing may cause irreversible structural
damage or safety hazards

Socket head cap
screws (M8*16mm)

Socket head cap
screws (M8%25mn)

2. The installation is complete

I PovisoN

Installation instruction

TS1010WD20/24 Installation

The number of people needed for installation: 2

@D Please read the manual carefully before
installing this product. And strictly
follow the installation process

@ Please take good care of this manual
for your next installation

® Note: Before installation, screw all
the screws to 1/2 of the length of
the installation. After all screws
are half screwed in, tighten them all

together.
. On a red ribbon are furniture
Parts list ) : ‘
installation accessories
Serial Que.mti ty .
il N
((((((/ Socket head cap
A (((((((@ screws (M8*25mm) 6 0
Cabinet Legs on
B N Both Sides 2 0
C ﬁ Mid foot 1 0
(((((( Socket head cap
D ((((((((@ screws (M8*16mm) 4 0
E
F
G

TotalL 1 page; page 1




